Review Packet for Exam #2

Math 121-D. Benedetto

Integrals: Compute each of the following integrals, or else show that it diverges.
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Sequences: For each of the following sequences, decide whether it converges or diverges. If

it converges, compute its limit.
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Series: Find the sum for each of the following series (all of which converge):
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More Series: Determine whether each of the following series converge or diverge. Name
any convergence test(s) you use, and justify all of your work

i 23 —Inn
5n3 4+ 9

n=1

[e.9]

n
n

1

arctann
1+ n2

S
arctann
i 2n+5

5n3 + 3n?
n=1

(_1)n+1
1 n%+5n—3

||M8

n

™

M]3

f arctan(2n)

N
Il

1
3+ 5,

10e

)
3=

3
Il
—

Z nt 4 40n8 + 4n3 + 19
— 4 4 17n° + n20



63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

[e.9]

S
6 6
=t (n+1)

St (77 )

i ncos?(mn? + 1)
— n?+7

Even More Series: Determine whether each of the following series converges absolutely,
converges conditionally, or diverges. Name any convergence test(s) you use, and justify

all of your work.

- 1
Z(_l)nJrli
= on + 2
Nt (_Dnn?’ +6n
o nd +1
0 52n
nZ:: (2n+1)! Inn
= n! nb n"
Zl 104ne2n
n=
(o9}

1
21"
= dn+3
> (n!)SeZ”
— (3n)! n»
o0
Z(_l)nH arctanmn
— n’+n

L (=1)"(3n)! n?
Z( )" (3n)

12
= 8" (n))
Z(_l)nn7 -

n’+3
n=1

(=)™ (Inn) 7 (2n)!
Z( )" (Inn) 7" (2n)

nn 4m nl



